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TRIAL TIME | VELOCITY (m/s)
1 0040 | b.if2g
2 0042 | L. 014
3 ooz g4
4 L0040 | Loy2S
5 DOWO | 6.-\Yag
6 0040 | 142G
7
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AVERAGE VELOCITY 6, 222 ™/s
STOM L 153 ‘
AV Hi-kow G425 — 6.\ ,
. — = ==
BALL DIAMETER_ 0-0 =7 ™
SHOW WORK; SAMPLE CALCULATIONS el L4806
veloctky =  iameter 002570, (L nsewmle, L.
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PROJECTILE MOTION STAT LAB
AH o aboab Srm ecor due d e vuler daotec

H= ! . OEE:"m .
and usng D ules for aeurement

ERROR IN H=AH= 0.00 Seey

TRIAL T [ X(m) \
1 1 3.0)fpw™ '
2 2.020m
3 3.0 m
4 13,08 m
5 3,0%6™
6 3.024 ™
7
8
9
10
11
12 .
AVERAGE X (EXPERIMENTAL) 3. 020 m
SIOM ( Aymax ™ Xenin) /2 = 0.00g0
T t= U= V
'X&\q = Vot g ‘ A ] ay (5225 !354&1
THEORETICALX= __ Q. 924wy 7 Ty 2Ll oS = (o neo a
vE_ | %= 224 o]

ERROR IN THEORETICALX=_(J.0U7$ - . \t= .%Ufg[ _ e _‘ l

y, - ’ ———— 4 !
SHOW WORK; USE ADDITIONAL SHEETS
\ - (20
4%, oy, T Y, /%h AH |

-~ ,:z,u ST {9%25*4/@‘37,:'65;5 * 0.00p,

| ]mg% = 0. 07?11
ERRORiN EXPERMENTAL X= O Doq

SHOW WORK; USE ADDITIONAL SHEETS

‘ : ' A Xey
ya = Kwmog = Zon: B.020 - 3011 P
xex? o = = —_——g = 0.009

QUESTION 1) DO YOU FIND THE MEASURED RANGE-J:—_\ND THE CALCULATED RANGE AGREE WITHIN
EXPERIMENTAL ERROR? SHOW WORK; USE ADDITIONAL SHEETS

e T M | < A%y, A%,

RS 030~ RABU| £ 0,078 + 0,000
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